	A box is placed on a scale
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	8 identical blocks are then placed in the box
[image: ]

	Find out how much one block weighs
	Hint 1
Write down the weight of the box only

	Paper 2 WJEC Question 3 - June 2013

	Hint 2
Write down the weight of the box and blocks

	Hint 3
Subtract the weight of the box from the weight of the box and blocks
	Hint 4
[bookmark: _GoBack]Divide the weight of the 8 blocks by 8 to get the weight of 1 block

	Instructions
Sort the cards into normal cards and hint cards. Put the hint cards in a pile upside down. When you get stuck look at a hint card for help.
	Answer
90g
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